1/o0 do/dxIO

Ratio to DELPHI

[

1071

1072

0.5

91 GeV ee y*/Z (Hadronic)
L L L Y I I L B B o )
- J -

— — )
B = spectrum (=* 13
=
m DELPHI A
— —A— Pythia 6.428 370 —n
—  .-A-- Pythia 6.428 373 m
 --o-- Pythia 6.428 374 o
-0 Pythia6.428375 =
| i~ Pythia 6.428 381 =
- ¥-. Pyihia 6.428 382
|
- . 1
- — ™
\ <t
B . 13
- — ©
&\\\\l o
u u 138
X
| = &
— Oc
- — O
- s
B o
- — O
B B
IS
o
B -1 O
= P T T P I E
— = —2
- ‘!‘W_‘_,,_,.!-——/’” ]
— . - n
- .
1
L —0.5

" 1 1 1 " | " 1 1 " 1 1 " | " 1 1 1 1 " | 1 1 |

0 0.1 0.2 0.3 0.4
X



	Contents
	Page 1


